—BIER R

(CO : ARME)

HERRSE KB

FR 205 ERE 21%F
1 (X) BT4f BIERA B H
4H 5H 64 78 8H 98 | 108 | 1A | 128 | 1A 28 38
KERHERARX EF KB AOHAEEH (8) 30 31 30 31 31 30 31 30 30 31 27 29
I 7E (BFE) 712 735 711 734 736 716 739 713 733 735 655 721
AEHE (ppm) 0.4 0.4 0.4 0.3 03 0.3 0.4 0.5 0.6 0.5 0.5 0.4
S8R EA 20pomZ B Z 1B H (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZEBA B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1EENRSIE (ppm) 13 0.9 038 1.0 0.7 1.6 1.7 15 24 15 2.2 1.7
BEHENRSIE (ppm) 06 0.6 05 05 0.4 0.7 0.9 0.7 1.1 0.7 1.0 0.8
T MBI R AR AOHAEEH (/) 30 31 30 31 - - - - - - - -
I 7E B (B5FE) 71 736 711 734 - - - - - - - -
AEHE (ppm) 0.4 0.4 0.3 03| - - - - - - - -
SEFH T HEH 20ppm%E B A f=[E] 3k (@) 0 0 0 0 - - - - - - - -
B FEH{EH 10ppmZE B A f- B $K (82) 0 0 0 0 - - - - - - - -
1EEEOREE (ppm) 0.9 0.7 0.9 12 - - - - - - - -
BEHEORSIE (ppm) 0.5 05 0.5 0.6 - - - - - - - -
Saukiil ETAERCKHE) AOHAEEH (82) 30 31 30 30 31 30 31 30 31 31 28 31
I TE e (B5FE) 713 739 714 734 738 715 738 716 739 738 668 739
AEHE (ppm) 0.4 0.4 0.3 0.3 0.3 0.3 0.4 0.4 0.6 0.4 0.5 0.4
SEFETFIEA 200pmE A 1=[EI %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
B E9fEA100pmZE#E A = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 1.1 0.9 0.9 0.9 0.6 1.4 15 1.3 2.6 2.3 1.7 14
BEHEORSIE (ppm) 0.6 0.6 0.5 05 0.4 0.7 0.8 0.6 1.0 0.7 1.0 0.8
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—BIER R

(CO : ARME)

HERRSE KB

FR 205 ERE 21%F
1 (X) BT4f BIERA B H
4H 5H 64 78 8H 98 | 108 | 1A | 128 | 1A 28 38
SO FEZRIE R (88) AOAEEHR (H) 30 31 30 30 31 30 31 30 31 30 28 31
I 7E (85D 714 739 715 733 740 713 739 716 739 733 668 739
AEHE (ppm) 0.4 0.4 0.4 0.3 03 0.3 0.4 0.5 0.6 0.4 0.5 0.4
SHF[H T M fEA20ppm%E B Z 1= [E %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BESEH10ppmZBA B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1EENRSIE (ppm) 13 1.0 038 1.0 0.7 15 16 1.7 2.1 18 2.1 18
BEHEORSIE (ppm) 0.7 0.6 05 0.5 0.4 0.7 0.9 0.7 1.1 0.7 1.1 0.9
BRI R H AOAEEH (82) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E (B5FE) 715 736 715 737 739 715 739 714 737 739 667 736
AEHE (ppm) 0.4 0.4 03 0.3 0.2 0.1 0.1 0.3 0.5 0.4 0.4 0.3
SEFE FIMEA 200pmE HE Z 1=[EI %K ([@) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZEBA-HE (H) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 1.7 1.1 0.7 0.8 0.9 0.6 05 1.4 1.9 1.7 15 1.3
BEHEORSIE (ppm) 06 05 0.5 05 0.4 0.3 0.3 038 0.9 0.7 0.9 0.6
P& PAEE AHAEEH (82) 30 31 30 31 31 30 31 30 31 31 28 31
B TE (B5FE) 719 744 718 743 743 718 741 720 743 743 672 744
AEHE (ppm) 0.4 0.4 0.4 0.3 0.3 03 0.4 05 0.6 0.5 0.5 0.4
ST IEA 200pmE A 1=[EI %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
B FE9fEA100pmZ#E A = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 1.3 0.9 038 0.8 0.7 15 1.7 2.0 25 18 2.2 1.7
BEHEORSIE (ppm) 0.7 0.7 0.5 05 0.4 0.7 0.9 0.7 1.1 0.8 1.1 0.9
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—BIER R

(CO : ARME)

HERRSE KB

FR 205 ERE 21%F
1 (X) BT4f BIERA B H
4H 5H 64 78 8H 98 | 108 | 1A | 128 | 1A 28 38
=X =R HBAE S R AR AT ADBIE B (H) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E (85D 713 735 711 735 736 709 735 712 735 734 664 732
BEHE (ppm) 0.4 0.4 0.4 0.3 03 0.3 0.4 0.4 0.5 0.4 0.5 0.4
SHsfE FI9{EA 20ppmZ B Z T= [ 4K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEHI10ppmZBA B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1EEORSIE (ppm) 1.0 0.8 0.9 1.0 038 1.7 1.4 1.2 20 15 1.7 15
BEHENRSIE (ppm) 06 05 05 0.4 05 0.8 0.7 0.7 0.8 0.7 1.0 0.6
PN R A HEHEFE AOHAEEH (8) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E e (B5FE) 712 736 719 736 736 709 737 714 737 738 663 737
AEHE (ppm) 0.7 0.6 06 0.6 05 05 06 0.7 0.8 0.7 0.8 0.7
SEFE FIMEA 200pmE HE Z 1=[EI %K ([@) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZEBA-HE (H) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 1.9 15 15 5.8 6.1 1.4 1.7 25 2.8 2.1 2.6 2.2
BEHEORSIE (ppm) 1.0 0.9 0.9 0.9 0.9 0.9 1.1 0.9 1.3 1.0 1.3 12
KR EEE/IX HSE B /NERR AHAEEH (82) 30 31 30 31 31 26 31 30 31 31 28 31
B TE (B5FE) 713 733 708 737 739 674 739 718 740 740 663 737
AEHE (ppm) 05 05 0.5 0.4 0.4 0.8 0.9 0.6 0.7 0.6 0.6 0.5
ST IEA 200pmE A 1=[EI %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
B FE9fEA100pmZ#E A = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 3.3 1.3 15 1.4 5.1 2.6 34 33 2.3 4.1 25 33
BEHEORSIE (ppm) 0.8 0.7 0.6 0.7 15 15 1.6 0.8 1.1 1.0 12 0.9
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—BIER R

(CO : ARME)

HERRSE KB

FR 205 ERE 21%F
1 (X) BT4f BIERA B H
4H 5H 64 78 8H 98 | 108 | 1A | 128 | 1A 28 38
KBrEZiIX LR/ AOHAEEH (H) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E (85D 714 738 712 738 737 714 735 714 738 738 665 736
BEHE (ppm) 0.7 0.6 0.7 0.7 06 0.6 06 0.7 0.8 0.7 0.7 0.6
SHsfE FI9{EA 20ppmZ B Z T= [ 4K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEHI10ppmZBA B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1EEORSIE (ppm) 1.7 1.7 1.7 1.6 1.7 1.7 2.0 20 2.2 2.0 2.2 2.1
BEHENRSIE (ppm) 038 0.8 0.9 0.8 0.9 0.9 1.1 1.0 1.1 1.0 1.2 1.1
KBRTIAE X ETE YN TN AOAEEH (82) 30 31 30 28 31 30 31 30 31 31 27 31
I 7E e (B5FE) 718 741 716 696 740 713 740 718 741 742 653 740
AEHE (ppm) 1.1 1.0 0.9 0.9 038 0.8 038 1.0 1.1 0.9 1.0 0.8
SEFE T IEA 200pmE HE A 1=[BI%K ([@) 0 0 0 0 0 0 0 0 0 0 0 0
B E9fEA 1 00pmZ#E A - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EEEDRSIE (ppm) 6.6 2.1 1.9 3.0 22 8.1 34 29 3.9 3.0 5.1 2.7
BEHEORSIE (ppm) 1.7 1.4 1.3 1.2 1.2 15 1.3 15 18 15 18 1.7
KIRTRER SERER AHAEEH (82) 30 31 30 31 31 24 31 30 31 31 28 31
B TE (B5FE) 712 736 711 736 736 596 735 710 735 735 666 737
AEHE (ppm) 0.9 0.8 0.7 0.8 0.6 0.7 0.8 0.9 12 1.1 0.9 0.7
SEFE I EA 200pmE HE A 1=[EI %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BFE9fEA100pmZE#E A = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 22 1.9 1.9 20 1.7 1.9 24 2.3 3.1 26 2.6 24
BEHEORSIE (ppm) 1.2 1.2 1.1 1.1 1.0 1.2 1.4 13 1.7 15 15 13
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—BIER R

(CO : ARME)

HERRSE KB

FR 205 ERE 21%F
1 (X) BT4f BIERA B H
4H 5H 64 78 8H 98 | 108 | 1A | 128 | 1A 28 38
RTdEX IR AMBIEBEE (H) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (85D 716 739 715 739 740 715 738 716 739 740 668 740
AEHE (ppm) 06 0.6 05 0.5 05 0.5 06 0.7 0.8 0.7 0.7 0.6
SHsfE FI9fEA 20ppmZEHEZ 1= [ 5 (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEHI10ppmZEBA B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1EEORSIE (ppm) 1.4 1.3 1.4 1.2 1.2 20 1.9 20 2.9 22 20 2.0
BEHENRSIE (ppm) 0.9 0.8 038 0.7 0.9 1.0 1.0 0.9 12 1.1 1.2 1.0
RMERR EXRAL AOAEEH (/) 30 31 30 31 29 30 31 30 31 31 28 29
B 7E e (B5FE) 714 738 715 740 721 716 733 714 740 740 667 721
AEHE (ppm) 05 05 0.4 0.3 03 0.4 0.5 05 0.6 0.5 0.6 0.4
SEFE I EA 200pmE HE A 1=[EI %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZEBA-HE (H) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 1.1 1.1 0.9 0.8 038 15 16 15 20 1.7 2.1 14
BEHEORSIE (ppm) 0.7 05 0.6 05 0.5 0.8 0.9 038 1.0 0.8 1.0 0.7
==l FEMBEHER AHAEEH (82) 30 31 30 31 31 30 31 30 31 31 28 24
B TE (B5FE) 718 742 718 742 736 718 742 715 741 742 669 584
AEHiE (ppm) 0.6 05 0.5 0.4 0.4 0.4 0.5 05 0.6 0.5 0.6 0.5
ST IEA 200pmE HE A 1=[BI %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
B FE9EH 10ppmZiBA =B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 15 1.2 1.2 1.2 1.2 15 1.4 1.6 2.6 1.9 2.5 7.3
BEHEORSE (ppm) 0.8 0.7 0.7 05 0.6 0.7 0.7 038 1.1 0.9 1.1 0.8
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—BIER R

(CO : ARME)

HERRSE KB

FR 205 ERE 21%F
1 (X) BT4f BIERA B H
4H 5H 64 78 8H 98 | 108 | 1A | 128 | 1A 28 38
L BhmER AMBIEEE (H) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E (8D 716 740 715 739 738 716 740 715 742 741 669 739
AEHE (ppm) 05 0.4 03 0.3 0.2 0.3 0.4 0.5 0.6 0.5 0.6 0.4
SHsfE F19{EA 20ppmZ B Z 1= 4K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZBA B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1EENRSIE (ppm) 1.4 0.9 0.9 0.7 038 0.8 15 1.7 2.2 16 20 16
BEHEORSIE (ppm) 06 0.6 06 0.4 0.4 0.4 038 0.7 1.1 0.8 1.1 0.9
W W 8 S & H A AOHAEEH (8) 30 29 30 31 31 25 29 30 31 31 28 31
I 7E e (B5FE) 720 717 714 738 739 614 720 715 740 739 668 730
AEHE (ppm) 0.4 05 06 05 05 05 0.7 0.6 0.8 0.6 0.6 0.6
SEFE T IEA 200pmE HE Z 1= [EI%K ([@) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZEBA-HE (H) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 2.5 3.1 22 1.2 15 1.3 2.1 2.1 3.1 1.9 2.2 2.3
BEHEORSIE (ppm) 038 0.7 0.8 0.6 0.8 0.7 1.2 0.9 14 1.0 1.3 1.1
=1 TR AHAEEH (82) 30 31 30 31 31 30 31 30 31 31 28 31
B TE (B5FE) 716 740 716 738 737 715 740 715 739 740 669 740
AEHE (ppm) 0.7 0.6 0.6 0.4 0.4 05 0.5 0.6 0.6 0.6 0.6 0.5
ST EA 200pmEHE A F=[EI %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
B FE9fEA 1 00pmZE#E A = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EEEOREE (ppm) 1.2 1.0 1.0 0.8 0.8 1.3 1.4 1.3 1.7 15 18 1.3
BEHEORSIE (ppm) 0.8 038 0.8 0.6 0.6 0.7 0.9 0.8 1.0 0.8 12 0.7
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—BIER R

(CO : ARME)

HERRSE KB

FR 205 ERE 21%F
1 (X) BT4f BIERA B H
4H 5H 64 78 8H 98 | 108 | 1A | 128 | 1A 28 38
=y AR AOAEEHR (H) 30 31 28 29 29 30 31 27 31 31 28 26
I 7E (85D 717 741 687 724 721 713 739 673 738 743 671 658
BEHE (ppm) 03 0.3 0.2 0.2 0.1 0.2 03 0.3 0.4 0.3 0.4 0.3
SHsfE FI9{EA 20ppmZ B Z T= [ 4K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEHI10ppmZBA B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1EEORSIE (ppm) 038 0.6 1.2 0.5 0.4 0.7 0.9 0.9 14 1.0 14 0.9
BEHENRSIE (ppm) 05 0.4 03 0.3 0.2 0.3 05 05 0.7 0.4 0.9 0.5
kil B2 AOAEEH (82) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E e (B5FE) 712 734 711 735 734 710 736 712 735 734 664 734
AEHE (ppm) 06 0.6 05 05 05 05 0.7 0.6 0.7 0.6 0.6 0.5
SEFE I EA 200pmE HE A 1=[EI %K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZEBA-HE (H) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 1.9 15 15 1.7 1.4 1.8 18 2.2 2.6 26 25 16
BEHEORSIE (ppm) 0.8 0.8 0.8 038 0.7 0.9 1.0 1.0 1.1 1.1 1.2 0.9
kil iR AHAEEH (82) 30 31 30 31 31 30 31 30 31 31 28 31
B TE (BFE) 711 735 711 736 733 712 733 712 734 735 664 733
AEHiE (ppm) 0.6 0.6 0.5 05 0.4 05 0.6 0.6 0.7 0.6 0.7 0.5
S FIEA 200pmEHE A 1=[BI %K (@) 0 0 0 0 0 0 0 0 0 0 0 0
B FEEH 10ppmZ B A F-HE (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 15 15 1.4 15 1.6 1.7 2.0 2.1 2.0 16 2.3 16
BEHEORSE (ppm) 0.8 0.7 0.7 0.6 0.7 038 1.2 0.9 1.1 0.9 12 0.8
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—BibikE (Cco: AMlfE) #EMFRE KR
FR 205 ERE 21F
1 (X) BT4f BIERA B H
48 58 6A 78 8A 98 10R 1A | 128 1R 2R 38
NG RN AHAEBRHR (8) 30 31 30 31 - - - - - - - -
I 7E (B5FE) 713 734 712 735 - - - - - - - -
BEHE (ppm) 06 0.5 05 05| - - - - - - - -
S T4 EAS20ppmZ R Z 1= [E1#1 ([E) 0 0 0 of - - - - - - - -
BEEH10ppmZEBA B (H) 0 0 0 of - - - - - - - -
1EENRSIE (ppm) 1.9 15 1.3 15 - - - - - - - -
BEHENRSIE (ppm) 0.9 0.7 0.7 0.7 - - - - - - - -
™ AERERE,r B AOHAEEH q=D 30 31 30 31 31 30 31 30 31 29 28 16
I 7E e (B5FE) 716 740 715 740 740 713 740 716 739 717 668 398
AEHE (ppm) 05 05 05 05 03 0.4 0.5 05 0.6 0.4 0.5 0.4
8 T4 fE AV 20ppmZ R Z 1= [E1#1 ([E) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZEBA-HE (8) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 1.4 1.1 1.1 1.0 0.9 1.1 1.3 15 16 4.1 43 2.3
BEHENRSIE (ppm) 0.7 0.7 0.8 0.8 0.5 0.6 0.8 0.7 0.8 0.7 0.9 0.6
=A™ HERF—/LMBS AMBIEBEH q=D 30 30 30 31 - - - - - - - -
B TE (B5FE) 713 729 711 727 - - - - - - - -
AEHE (ppm) 0.6 05 0.5 04| - - - - - - - -
S T4 fE A 20ppmZ R Z 1= [E1 31 (=) 0 0 0 of - - - - - - - -
BEHEI100pmEB A - BH (8) 0 0 0 of - - - - - - - -
1EEEOREE (ppm) 1.9 2.0 1.3 1.3 - - - - - - - -
BEHEORSIE (ppm) 0.8 0.7 0.7 0.5 - - - - - - - -
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—BIER R

(CO : ARME)

HERRSE KB

FR 205 ERE 21%F
1 (X) BT4f BIERA B H
4H 5H 64 78 8H 98 | 108 | 1A | 128 | 1A 28 38
PNt RARTREGERE LV |EOAERHR (H) 30 31 30 31 31 30 31 30 31 30 28 31
I 7E (85D 712 734 711 735 732 708 731 711 734 728 664 729
BEHE (ppm) 06 0.5 05 0.4 0.4 0.5 06 0.6 0.8 0.6 0.7 0.5
SHsfE FI9{EA 20ppmZ B Z T= [ 4K (=) 0 0 0 0 0 0 0 0 0 0 0 0
BEEHI10ppmZBA B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1EEORSIE (ppm) 16 1.3 1.0 1.3 0.9 1.8 2.1 20 2.9 3.0 2.3 18
BEHENRSIE (ppm) 038 0.7 0.7 0.6 06 0.9 1.2 1.0 14 1.0 1.3 1.0
P {5 B [EE] 3% o R B AOHAEEH (8) 29 31 30 31 31 30 31 28 29 31 28 30
I 7E e (B5FE) 706 735 711 735 735 711 735 697 719 729 663 728
AEHE (ppm) 038 0.6 06 0.6 0.4 05 0.7 0.6 0.9 0.6 0.8 0.7
SEFE FIMEA 200pmE HE Z 1=[EI %K ([@) 0 0 0 0 0 0 0 0 0 0 0 0
BEEH10ppmZEBA-HE (H) 0 0 0 0 0 0 0 0 0 0 0 0
1EEOREE (ppm) 18 1.4 1.4 1.6 1.1 1.8 1.9 1.9 2.9 2.9 3.8 20
BEHEORSIE (ppm) 1.2 0.9 0.8 0.9 0.7 1.0 1.1 1.0 14 1.1 1.7 13
AHRIEBH (/)
B TE B (B5RE)
AEHiE (ppm)
SB[ B AY20ppmZE FB X 1= [E1%K (=)
BEHEHIN100pmEB A - BH (/)
IBEEDORSIE (ppm)
BEYEORSE (ppm)
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